

			т	abulation of B	ids			Page 1 of 16
Contract ID:	18122			Counties:	MONMOUTH			
Letting Date:	July 17, 2018	}		District(s):	C4			
Call Order:	122			Project(s):	NHP-0018 (302))		
Contract Time:	08/09/19 CO	MPLETION DA	ΛTE	Min:	Max:			
Contract Descr	iption: Rout	e 18 SB from F	Route 138 to Dea	al Road				
Line No / Item ID Item Description			(1) ASPHAL SYSTEN					
Alt Set / Alt Memb	er Quan	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	F	Roadway		Cat A	t Set:	Cat A	It Member:	
0001 151006M		1.000	13,600.00000	13,600.00				
PERFORMANCE BC PAYMENT BOND	ND AND	DOLL						
0004 153003P		(1)	40,000.00000	40,000.00				
PROGRESS SCHED	ULE	LS						
0005 153005M		6.000	5,000.00000	30,000.00				
PROGRESS SCHED	ULE UPDATE	U						
0006 153011M		440.000	105.00000	46,200.00				
TRAINEES		HOUR						
0007 154003P		(1)	265,000.00000	265,000.00				
MOBILIZATION		LS						
0010 157004M		1.000	35,000.00000	35,000.00				
CONSTRUCTION LA	YOUT	DOLL						



			т	abulation of B	ids			Page 2 of 16
Co	ontract ID: 18122			Counties:	MONMOUTH			
Let	tting Date: July 17,	2018		District(s):	C4			
C	Call Order: 122			Project(s):	NHP- 0018 (302)		
Cont	ract Time: 08/09/19	OCOMPLETION DA	TE	Min:	Max:			
Cont	ract Description:	Route 18 SB from F	Route 138 to Dea	al Road				
	o / Item ID escription		(1) ASPHAL SYSTEN					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0017	159003M	30.000	1.00000	30.00				
BREAKA	WAY BARRICADE	U						
0018	159006M	130.000	1.00000	130.00				
DRUM		U						
0019	159009M	130.000	20.00000	2,600.00				
TRAFFIC	CONE	U						
0020	159012M	2,000.000	16.80000	33,600.00				
CONSTR	RUCTION SIGNS	SF						
0021	159027M	2.000	1.00000	2.00				
FLASHIN	IG ARROW BOARD, 4	' X 8' U						
0022	159030M	4.000	12,500.00000	50,000.00				
PORTAE SIGN	BLE VARIABLE MESSA	AGE U						



			т	abulation of B	ids			Page 3 of 16
Co	ontract ID: 18122			Counties:	MONMOUTH			
Let	ting Date: July 17	, 2018		District(s):	C4			
C	Call Order: 122			Project(s):	NHP-0018 (302))		
Cont	ract Time: 08/09/1	9 COMPLETION DA	ΛTE	Min:	Max:			
Cont	ract Description:	Route 18 SB from F	Route 138 to Dea	al Road				
	o / Item ID escription		(1) ASPHAL SYSTEN					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt Set:		Cat A	It Member:	
0023	159108M	4.000	5,000.00000	20,000.00				
-	CONTROL TRUCK	-						
0024	159138M	20.000	450.00000	9,000.00				
HMA PA	ТСН	т						
0025	159300M	448,516.000	0.23000	103,158.68				
TRAFFIC	STRIPES, LATEX, 4	" LF						
0026	159302M	76,780.000	0.31000	23,801.80				
TRAFFIC	STRIPES, LATEX, 8	"LF						
0027	159314M	2,432.000	1.20000	2,918.40				
TRAFFIC LATEX, 2	C MARKINGS LINES, 24"	LF						



			т	abulation of B	ids			Page 4 of 16
Contract ID	: 18122			Counties:	MONMOUTH			
Letting Date	: July 17, 20	018		District(s):	C4			
Call Order	: 122			Project(s):	NHP-0018 (302))		
Contract Time	: 08/09/19 0	COMPLETION DA	TE	Min:	Max:			
Contract Desc	ription: Ro	oute 18 SB from R	oute 138 to Dea	I Road				
Line No / Item ID Item Description			(1) ASPHAL SYSTEM					
Alt Set / Alt Mem	ber Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Al	t Set:	Cat A	It Member:	
0028 160004M	l	1.000	4,000.00000	4,000.00				
FUEL PRICE ADJUS	STMENT	DOLL						
0029 160007M		1.000	500.00000	500.00				
ASPHALT PRICE A	DJUSTMENT	DOLL						
0030 161003P		(1)	26,000.00000	26,000.00				
FINAL CLEANUP		LS						
0031 201003P		(1)	40,000.00000	40,000.00				
CLEARING SITE		LS						
0032 203041P		1,050.000	10.00000	10,500.00				
GEOTEXTILE, ROA STABILIZATION	DWAY	SY						



			т	abulation of B	ids			Page 5 of 16
C	ontract ID: 18122			Counties:	MONMOUTH			
Le	tting Date: July 17	, 2018		District(s):	C4			
(Call Order: 122			Project(s):	NHP- 0018 (302)		
Cont	ract Time: 08/09/1	9 COMPLETION DA	ATE	Min:	Max:			
Cont	ract Description:	Route 18 SB from F	Route 138 to Dea	al Road				
	lo / Item ID Description		(1) ASPHAL SYSTEN					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	Roadway		Cat A	t Set:	Cat A	It Member:	
0033	302042P	1,050.000	80.00000	84,000.00				
-	GRADED AGGREGA ⁻ DURSE, 8" THICK	TE SY						
0034	401017P	1,803.000	22.00000	39,666.00				
MICRO-I	MILLING	SY						
0035	401021M	1,230.000	240.00000	295,200.00				
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						
0036	401024M	150.000	5.00000	750.00				
	G OF CRACKS IN HO T SURFACE COURS							
0037	401030M	18,500.000	2.78000	51,430.00				
TACK CO	ТАС	GAL						



		т	abulation of B	ids			Page 6 of 16
Contract ID: 18	122		Counties:	MONMOUTH			
Letting Date: Jul	y 17, 2018		District(s):	C4			
Call Order: 122	2		Project(s):	NHP-0018 (302)		
Contract Time: 08/	09/19 COMPLETION DA	ATE .	Min:	Max:			
Contract Description	on: Route 18 SB from F	Route 138 to Dea	al Road				
Line No / Item ID Item Description		(1) ASPHAL SYSTEN					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt Set: Cat A			It Member:	
0038 401054M	150.000	300.00000	45,000.00				
HOT MIX ASPHALT 12.5 SURFACE COURSE	M 64 T						
0039 421010M	1,200.000	124.01000	148,812.00				
SLURRY SEAL AGGREG II	ATE, TYPE T						
0040 421011M	35,700.000	11.42000	407,694.00				
SLURRY SEAL EMULSIO	N GAL						
0041 422003M	5,600.000	13.92000	77,952.00				
FOG SEAL SURFACE TR	EATMENT GAL						
0042 424004M	103,900.000	4.98000	517,422.00				
ASPHALT RUBBER CHIP	SEAL SY						



			т	abulation of B	ids			Page 7 of 16
Contract I	: 18122			Counties:	MONMOUTH			
Letting Date	: July 17, 2018	8		District(s):	C4			
Call Orde	: 122			Project(s):	NHP-0018 (302)		
Contract Time	: 08/09/19 CO	MPLETION DA	TE	Min:	Max:			
Contract Des	cription: Rout	te 18 SB from F	Route 138 to Dea	I Road				
Line No / Item II Item Description			(1) ASPHAL SYSTEM					
Alt Set / Alt Men	ıber Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000		Roadway		Cat Al	t Set:	Cat A	It Member:	
0043 602099	Л	24.000	1,000.00000	24,000.00				
RESET EXISTING	CASTING	U						
0044 602153	Л	1.000	3,000.00000	3,000.00				
RECONSTRUCTER		s, U						
0045 602210	Л	29.000	600.00000	17,400.00				
BICYCLE SAFE G	RATE	U						
0046 602213	Л	38.000	600.00000	22,800.00				
CURB PIECE		U						
0048 610003	Л	116,439.000	0.39000	45,411.21				
TRAFFIC STRIPES	, 4"	LF						
0049 610007	Л	19,305.000	0.77000	14,864.85				
TRAFFIC STRIPES	, 8"	LF						



				т	abulation of B	ids			Page 8 of 16
Contract	D: 18122				Counties:	MONMOUTH			
Letting Da	te: July 17	7, 2018			District(s):	C4			
Call Ord	er: 122				Project(s):	NHP-0018 (302)		
Contract Tin	e: 08/09/	19 COMPLE		ATE	Min:	Max:			
Contract De	scription:	Route 18 S	SB from I	Route 138 to Dea	al Road				
Line No / Item Item Description				(1) ASPHAL SYSTEN					
Alt Set / Alt Me	mber	Quantity ar	nd Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00)1	Roadv	vay		Cat A	t Set:	Cat A	It Member:	
0050 61000	9M	16	2.000	12.00000	1,944.00				
TRAFFIC MARKI	IGS		SF						
0051 61001	2M	8	80.000	84.00000	6,720.00				
RPM, MONO-DIR LENS	ECTIONAL,	WHITE	U						
0052 61001	7M	86	3.000	6.00000	5,178.00				
TRAFFIC MARKI	NG LINES, 2	24"	LF						
0053 61001	3M	5	50.000	84.00000	4,200.00				
RPM, MONO-DIR AMBER LENS	ECTIONAL,		U						
0054 61002	1M	13	80.000	30.00000	3,900.00				
REMOVAL OF RE	M		U						



			т	abulation of B	ids			Page 9 of 16
Contr	ract ID: 18122			Counties:	MONMOUTH			
Letting	g Date: July 17,	2018		District(s):	C4			
Call	Order: 122			Project(s):	NHP- 0018 (302)		
Contract	t Time: 08/09/19	OCOMPLETION DA	TE	Min:	Max:			
Contrac	t Description:	Route 18 SB from R	oute 138 to Dea	l Road				
Line No / I Item Desc			(1) ASPHAL SYSTEM					
Alt Set / A	It Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	SECTION: 0001 Roadway			Cat Al	t Set:	Cat A	It Member:	
0055 6	10027M	1,283.000	14.40000	18,475.20				
REMOVAL A RPM LENS	AND REPLACEME	NT OF U						
0056 6 ⁻	10033M	300.000	22.38000	6,714.00				
RUMBLE ST	RIP	LF						
0057 6	10036M	135,744.000	0.70000	95,020.80				
REMOVAL C	OF TRAFFIC STRIF	PES LF						
0058 6 ⁷	10039M	1,273.000	5.70000	7,256.10				
REMOVAL C	OF TRAFFIC MAR	KINGS SF						
0059 6	12006P	171.000	52.80000	9,028.80				
GUIDE SIGN POST SUPP	N, TYPE GA, STEE PORTS	L"U" SF						



		Т	abulation of B	ids			Page 10 of 16
Contract ID: 18122			Counties:	MONMOUTH			
Letting Date: July 17	, 2018		District(s):	C4			
Call Order: 122			Project(s):	NHP-0018 (302)		
Contract Time: 08/09/1	9 COMPLETION DA	ATE	Min:	Max:			
Contract Description:	Route 18 SB from F	Route 138 to Dea	al Road				
Line No / Item ID Item Description		(1) ASPHAL SYSTEN					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat A	t Set:	Cat A	It Member:	
0060 651255M	10.000	100.00000	1,000.00				
RESET WATER VALVE BOX	U						
Section Totals:			\$2,710,879.84				



		Т	abulation of B	ids			Page 11 of 16
Contract ID: 1812	22		Counties:	MONMOUTH			
Letting Date: July	17, 2018		District(s):	C4			
Call Order: 122			Project(s):	NHP- 0018 (302	2)		
Contract Time: 08/0	9/19 COMPLETION DA	TE	Min:	Max:			
Contract Description	n: Route 18 SB from F	Route 138 to Dea	I Road				
Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction E	ngineering	Cat A	t Set:	Cat A	It Member:	
0008 155009M	1.000	50,000.00000	50,000.00				
FIELD OFFICE TYPE C SE	T UP U						
0009 155027M	14.000	6,500.00000	91,000.00				
FIELD OFFICE TYPE C MAINTENANCE	МО						
Section Totals:			¢141.000.00				

Section Totals:

\$141,000.00



			т	abulation of B	ids			Page 12 of 16	
С	ontract ID: 18122			Counties:	MONMOUTH				
Le	tting Date: July 17,	2018		District(s):	C4				
(Call Order: 122			Project(s):	NHP- 0018 (302	2)			
Con	tract Time: 08/09/19	OCOMPLETION DA	λΤΕ	Min:	Max:				
Con	tract Description:	Route 18 SB from F	Route 138 to Dea	al Road					
	No / Item ID Description		(1) ASPHAL SYSTEN						
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	DN: 0003	Non-Participati	ng (Roadway)	Cat Alt Set:		Cat A	t Alt Member:		
0002	152004P	1.000	4,064.00000	4,064.00					
	'S AND CONTRACTOF CTIVE LIABILITY NCE	R'S DOLL							
0003	152015P	1.000	1,000.00000	1,000.00					
POLLUT	TON LIABILITY INSUR	ANCE DOLL							
0047	602216M	49.000	576.67000	28,256.83					
CLEANII STRUCT	NG DRAINAGE FURE	U							
0061	801006M	1,000.000	37.50000	37,500.00					
SELECT	IVE THINNING	SY							
0062	802021M	3.000	1,200.00000	3,600.00					
TREE R DIAMET	EMOVAL, OVER 6" TO ER	12" U							



Tabulation of Bids							Page 13 of 16
Contract ID: 18122	2		Counties:	MONMOUTH			
Letting Date: July 1	7, 2018		District(s):	C4			
Call Order: 122			Project(s):	NHP-0018 (302))		
Contract Time: 08/09	19 COMPLETION	I DATE	Min:	Max:			
Contract Description:	Route 18 SB fro	om Route 138 to De	al Road				
Line No / Item ID Item Description			LT PAVING MS, INC.				
Alt Set / Alt Member	Quantity and Un	its Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Non-Participati		pating (Roadway)	ng (Roadway) Cat Alt Set:		Cat Alt Member:		
0063 802024M	12.000	1,500.00000	18,000.00				
TREE REMOVAL, OVER 12' DIAMETER	" TO 18" L						
0064 802027M	2.000	1,875.00000	3,750.00				
TREE REMOVAL, OVER 18' DIAMETER	" TO 24" l						
Section Totals:			\$96,170.83				



			т	abulation of B	ids			Page 14 of 16
C	ontract ID: 18122			Counties:	MONMOUTH			
Le	tting Date: July 17	, 2018		District(s):	C4			
(Call Order: 122			Project(s):	NHP-0018 (302	2)		
Cont	ract Time: 08/09/1	9 COMPLETION DA	TE	Min:	Max:			
Cont	tract Description:	Route 18 SB from R	oute 138 to Dea	al Road				
	lo / Item ID Description		(1) ASPHAL SYSTEN					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0004	Erosion Control		Cat Al	t Set:	Cat A	It Member:	
0011	158006M	1,860.000	5.00000	9,300.00				
SILT FEI	NCE	LF						
0012	158030M	70.000	10.00000	700.00				
INLET F	ILTER TYPE 2, 2' X 4'	U						
0013	158033M	4.000	10.00000	40.00				
INLET F	ILTER TYPE 2, 4' X 4'	U						
0014	158063P	(1)	100.00000	100.00				
CONCR	ETE WASHOUT SYST	TEM LS						
0015	158072M	2.000	1,000.00000	2,000.00				
OIL ONL TYPE 1	Y EMERGENCY SPIL	LKIT, U						



Tabulation of Bids								Page 15 of 16
Cont	ract ID: 18122			Counties:	MONMOUTH			
Lettin	g Date: July 17	, 2018		District(s):	C4			
Call	Order: 122			Project(s):	NHP-0018 (302)			
Contrac	t Time: 08/09/1	9 COMPLETION DA	ATE	Min:	Max:			
Contrac	t Description:	Route 18 SB from F	Route 138 to Dea	al Road				
Line No / I Item Desc			(1) ASPHAL SYSTEN					
Alt Set / A	It Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	Erosion Contro	I	Cat A	t Set:	Cat A	It Member:	
0016 1	58084M	10.000	250.00000	2,500.00				
EROSION C REMOVAL	ONTROL SEDIM	ENT CY						
0	Tatalas			\$4404000				

Section Totals:

\$14,640.00



	Tabulation of Bids						Page 16 of 16
Contract ID: 1812	2		Counties:	MONMOUTH			
Letting Date: July 1	17, 2018		District(s):	C4			
Call Order: 122			Project(s):	NHP-0018 (302)			
Contract Time: 08/09	/19 COMPLETION DA	ΑΤΕ	Min:	Max:			
Contract Description	Route 18 SB from F	Route 138 to Dea	l Road				
Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	SECTION: 0005 General Landscape		Cat Alt Set: Cat Alt Me			It Member:	
0065 805003M	4,720.000	7.50000	35,400.00				
TURF REPAIR STRIP	LF						
Section Totals:			\$35,400.00				
Contract Totals			\$2,998,090.67				
Cost Plus Time Totals			\$2,998,090.67				
() indicates item is bid as Lump Sum							

(and the second	STATE OF NEW JERSEY
()	STATE OF NEW JERSEY DEPARTMENT OF TRANSPORTATION Phil Murphy, Governor Sheila Oliver, Lieutenant Governor
	Phil Murphy, Governor Sheila Oliver, Lieutenant Governor

		Vendor Ranking		Page: 1
Call Order:	122	Contract ID: 18122	Counties: MONM	OUTH
Letting Date:	July 17, 2018 10:00 AM	District(s): C4		
		Contract Time: 08/09/19 COMPLETION DATE		
Contract Desc	ription: Route 18 SB from F	Route 138 to Deal Road	Project(s): NHP-	0018 (302)
Rank	Vendor ID/Name		Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS, INC.	\$2,998,090.67	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,